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Six persons A, B, C, D, E, and F are sitting in a 
row facing north and M, N, O, P, Q, and R 
were sitting in another row facing south but 
not necessarily in the same order. Each 
person in the north facing row sits opposite 
to the persons sitting in the south facing 
row but not necessarily in the same order. N 
does not sit at any corner of the row and R 
does not faces E. N does not face B. Only 
three persons sit between A and the one 
who sits opposite to O and one of them sits 
at the corner of the row. Only one person 
sits between M and the one who sits 
opposite to A. D sits third to the left of B, who 
does not faces M and also does not sit at 
corner of the row. Only two persons sit 
between the one who faces A and P. E sits 
second to the right of F.

छह व्यक्ति A, B, C, D, E, और F एक पंक्ति में उत्तर
की ओर मुख करके बैठे हैं और M, N, O, P, Q, और R 
एक अन्य पंक्ति में दक्षिण की ओर मुख करके बैठे हैं
लेककन आवश्यक नह ं कक इसी क्रम में हों। उत्तर की
ओर उन्मुख पंक्ति में प्रत्येक व्यक्ति दक्षिण की ओर
उन्मुख पंक्ति में बैठे व्यक्तियों के ववपर ि बैठिा है
लेककन आवश्यक नह ं कक इसी क्रम में हो। N पंक्ति के
ककसी भी कोने पर नह ं बैठा है और R का मुख E की
ओर नह ं है। N का मुख B की ओर नह ं है। A और O के
ववपर ि बैठे व्यक्ति के बीच केवल िीन व्यक्ति बैठे हैं
और उनमें से एक पंक्ति के कोने पर बैठा है। M और A 
के ववपर ि बैठे व्यक्ति के बीच केवल एक व्यक्ति बैठा
है। D, B के बाएं से िीसरे स्थान पर बैठा है, क्िसका
मुख M की ओर नह ं है और वह पंक्ति के कोने पर भी
नह ं बैठा है। A और P की ओर उन्मुख व्यक्ति के बीच
केवल दो व्यक्ति बैठे हैं। E, F के दायें से दसूरे स्थान
पर बैठा है।
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Who among the following sits opposite to B?
(a) P
(b) Q
(C) R
(d) O
(e) None of these

Who among the following sits second to the left of R?
(a) P
(b) Q
(C) O
(d) M
(e) None of these

How many persons sits between the one who faces E 
and N?
(a) One
(b) Two
(c) Three
(d) None
(e) Four
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Which of the following information is correct about 
D?
(a) D faces N
(b) D is an immediate neighbor of both A and F
(C) D sits third from the extreme left end of the row
(d) Both (a) and (b)
(e) None of these

Four of the following five are alike in a certain way 
based on a group, which of the following does not 
belong to that group?
(a) R
(b) Q
(C) A
(d) E
(e) F
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How many pairs of letters are there in the word ‘PERFORMANCE’, each of 
which have as many letters between then in the word as they have 
between then in the English alphabet?
शब्द 'PERFORMANCE' में अिरों के ऐसे ककिने युग्म हैं, क्िनमें से प्रत्येक के बीच में उिने ह  
अिर हैं क्ििने अगें्रिी वणणमाला में उनके बीच हैं?

(a) More than Three
(b) Four
(c) One
(d) Three
(e) None
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If in the number 6793845132, 2 is subtract to first six digits of the number 
and 3 is added in rest of digits in the number, then how many digits are 
repeating in the number thus formed?
यदद सखं्या में सखं्या 6793845132 के पहले छह अकंों में से २ घटाया िािा है और सखं्या 
के शेष अकंों में ३ िोडा िािा है, िो इस प्रकार बनी सखं्या में ककिने अकंों की पुनराववृत्त हो 
रह  है?
(a) Two
(b) None
(c) One
(d) Four
(e) Three
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Seven persons viz. G, H, I, J, K, L and M are 
sitting in a circular table such that some of 
them are facing towards the centre while 
some are facing away from the centre, but 
not necessarily in the same order. Not more 
than two adjacent persons face the same 
direction.
K sits second to the left of M who is third to 
the left of L where K doesn’t sit adjacent to 
L.G sits adjacent to L but not with K.The
immediate neighbours of L face the same 
direction but opposite to L i.e., if L faces 
inside then the neighbours face outside and 
vice versa.H sits third to the right of G.Both
H and J face the same direction where J sits 
third to the right of I but not adjacent to L. K 
doesn’t face away from the centre.

साि व्यक्ति अथाणि। G, H, I, J, K, L और M एक
वतृ्ताकार मेि में इस प्रकार बैठे हैं कक उनमें से कुछ का
मुख कें द्र की ओर है िबकक कुछ का मुख कें द्र से बाहर की
ओर है, लेककन आवश्यक नह ं कक इसी क्रम में हों। दो से
अधिक आसन्न व्यक्ति समान ददशा की ओर उन्मुख
नह ं हैं।
K, M के बाएं से दसूरे स्थान पर बैठा है, िो L के बाएं से
िीसरे स्थान पर है, िहां K, LG के ननकट नह ं बैठा है, 
लेककन K के साथ नह ं बैठा है। L के ननकटिम पडोससयों
का मुख समान ददशा में है, लेककन L के ववपर ि है, 
अथाणि, यदद L का मुख अंदर की ओर है किर पडोससयों का
मुख बाहर की ओर है और इसके ववपर ि। H, G के दायें से
िीसरे स्थान पर बैठा है। H और J दोनों एक ह ददशा की
ओर उन्मुख हैं िहााँ J, I के दायें से िीसरे स्थान पर बैठा है
लेककन L के आसन्न नह ं है। K का मुख बाहर की ओर
नह ं है। कें द्र से।
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How many persons face towards the centre?
A.2
B.3
C.4
D.1
E.Cannot be determined

How many persons sit between I and M when counted 
from the left of I?
A.1
B.2
C.3
D.More than three
E.None

Who among the following person sits third to the right of H?
A.I
B.J
C.G
D.L
E.K
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What is the position of J with respect to G?
A. Immediate right
B. Second to the left
C. Third to the right
D. Second to the right
E. None of these

Who among the following person faces the same direction 
as K?
A.G
B.J
C.H
D.M
E. None of these
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Which alphabet is 3rd from the left in the meaningful four-letter word 
formed from the first, third, seventh and Eighth letter of the word 
Population? If more than one word is formed, then mark answer as X and 
no meaningful word is formed then mark answer as Z.
िनसंख्या शब्द के पहले, िीसरे, सािवें और आठवें अिर से बने अथणपूणण चार अिरों वाले 
शब्द में बायें से िीसरा वणण कौन सा है? यदद एक से अधिक शब्द बनिे हैं, िो उत्तर को X 
के रूप में धचक्ननि करें और कोई साथणक शब्द नह ं बनिा है, िो उत्तर को Z के रूप में 
धचक्ननि करें।

(a) T
(b) X
(c) Z
(d) P
(e) I
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Pointing to a Lady, A Man said, “She is the maternal aunt of my father’s 
only daughter” How is the daughter of Man’s father is related to Man?
एक मदहला की ओर इशारा करिे हुए, एक आदमी ने कहा, "वह मेरे वपिा की इकलौिी बेट  की 
मौसी है" आदमी के वपिा की बेट  का आदमी से तया सबंंि है?
(a) Herself
(b) Sister
(c) Daughter
(d) Either (a) or (b)
(e) Father
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Himani says pointing towards a Girl, “She is the daughter of the wife of my 
brother”. In this relation, Himani is a female then how Himani is related to 
the girl?

दहमानी एक लडकी की ओर इशारा करिे हुए कहिी है, "वह मेरे भाई की पत्नी की बेट  है"। 
इस सबंंि में, दहमानी एक मदहला है िो दहमानी का लडकी से तया सबंंि है?
(a) Aunt
(b) Father
(c) Uncle
(d) Grandfather
(e) None of these
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If in the number 71839245, 3 is subtracted to each of the digit which is 
greater than 6 and 2 is added from each of the digit which is less than 6, 
then which of the following digit is second to the right of the digit which is 
third from the left end?
यदद सखं्या 71839245 में, 6 से बड ेप्रत्येक अकं में से 3 घटाया िािा है और 6 से कम 
प्रत्येक अकं में से 2 िोडा िािा है, िो ननम्न में से कौन सा अकं उस अकं के दायें से दसूरे 
स्थान पर है बाएं छोर से िीसरा?

(a) 3
(b) 7
(c) 4
(d) 6
(e) 5

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

Step 1: If an even number is followed by an odd number then the resultant will be the addition of both the 
numbers. 
Step 2: If an odd number is followed by a perfect square then the resultant will be the difference of that 
square number and the odd number. 
Step 3: If an odd number is followed by another odd number (but not a perfect square) then the resultant will 
be the addition of both the numbers. 
Step 4: If an odd number is followed by an even number (but not a perfect square) then the resultant comes 
by multiplying the numbers. 
Step 5: If an even number is followed by another even number then the resultant will be the division of first 
number by the second number.
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There are ten members in a family – Manju, 
Mahesh, Bipin, Seema, Nandini, Sumain, Rajat, 
Neha, Komal and Aman. It is a three generations 
family and there are three couples in the family.
Manju is Rajat’s grandmother. Sumain is 
Mahesh’s son in law. Mahesh is a male member in 
the family. Bipin is the husband of Seema. 
Nandini is the daughter of Mahesh and has two 
children, a brother, a niece and a nephew. Rajat 
is the brother of Neha who is a female. Komal is 
the sister of Aman who is the son of Nandini.

एक पररवार में दस सदस्य हैं - मंिू, महेश, बबवपन, सीमा, नंददनी, 
सुमैन, रिि, नेहा, कोमल और अमन। यह िीन पीद़ियों का
पररवार है और पररवार में िीन िोडे हैं।
मंिू रिि की दाद है। सुमैन महेश का दामाद है। महेश पररवार में
एक पुरुष सदस्य है। बबवपन सीमा के पनि हैं। नंददनी महेश की बेट 
है और उसके दो बच्चे हैं, एक भाई, एक भिीिी और एक भिीिा।
रिि नेहा का भाई है िो एक मदहला है। कोमल अमन की बहन है
िो नंददनी का पुत्र है।

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

http://www.mahendras.org/

